1

W

'Kuno National Park' is situated in -
(A) Madhya Pradesh

(B) Bihar

(C) Uttar Pradesh

(D) Maharashtra

P T e fam ¥ -

(A) weg waer o

(B) faerr A

(C) Tat wasr o

(D) werrz

If the perimeter and the area of a circle

are numerically equal, then the radius of

the circle is -

(A) 1 unit (B) 2 units

(C) munits (D) 7 units

af s ga w1 R ST A HETD

=7 § U@t ¥, ot 5@ ga B B -
(A) 1 3&18 (B) 2 37
(C) m3re (D) 7 3%

'The gravitational force between (WO

bodies varies with 't as -
(where, 't' is the distance between (wo

bodies.)

3 fauel % 4 TEEET T 't & frer '
¥ yfafda &ar &

(78T, 'r'a‘m‘r'fﬁv?f%sﬂaa%{&% )
(A) r? (B) r

(C) 1/r (D) 112

Which is the longest dam in India ?
(A) Hirakud

(B) Tehri

(C) Khadakwasla

(D) Dhauli Ganga

WITd @ wad WA gy He-a §
(A) Erugs

(B) fewdy

(C) wewargen

(D) et T

S—

5

_ choosing from the given options :

(C) will

“The marked price of a cooler is T 4200.
The shopkeeper sells it at Z 3696, then

discount percent is -
wwmaﬁatﬁuuzoo% | gATaTT
74 2 3696 # e ¥, @ gz wfaed ¥ -
(B) 12%

(D) 16%

(A) 8%
(C) 14.5%

Addition of two supplementary angles is-
2 qTE BN B amr ¥

(A) 360° (B) 90°

(Cy V80P (D) 270°

Which is the type of unemployment in
rural areas of India ?

(A) Seasonal Unemployment

(B) Disguised Unemployment ‘

(C) Both Seasonal and, Disguised
UUnemployment

(D) Educated Unemployment
W 3 i i & P W B A
el RN ¥ 7

(A) wrgdl ARl

(B) g g () I

(C) 21 e 7 ges= AP
(D) frfta ageTd

Fill in the blank with the correct answer

He saw that the clock stopped.

(A) is (B) has
(D) had

PA
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The first woman speaker of Lok Sabha in
India:

(A) Vijayalakshmi Pandit

(B) Meera Kumar

(C) Sheela Dixit

(D) Sucheta Kriplani :

WL B WHEHT B W4T Hiea sema @
(A) fosammet dfeq

(B) dr Fwmx

(C) siem St

(D) gt pwrit

can be cut into any number
of pieces and each piece grows into a
complete organism.

(A) Yeast (B) Planaria
(C) Rose (D) Bryophyllum
__ 9 wYe e w1 gl wE gwe
9 Fre foar s @ vaE 7HeT fasfaa gt
gof Sirg &1 o & g ®
(A) dr= (B) wiafaar
(D) srEeas

(C) e

Who was the author of Communist
Manifesto ?

(A) Karl Marx (B) Gorki

(C) Lenin (D) Leo Tolstoy
FEE] 99U 6 W@ B o 7

(A) Fe T (B) et

(C) @t (D) o dwaem

Choose the closest meaning of the given

word from the options that follow:
Waive

(A) breeze :
(B) to move unsteadily
(C) to give up

(D) to say good-bye

13

14

15

16

In India, Tropical Evergreen Forests are
found in :

(A) Uttar Pradesh

(B) Jharkhand

(C) Assam

(D) Chhattisgarh _

A ¥, SOTsfeaHig Faraer a9 am A # -
(A) TaT WeaT H

(B) #m@s H

(C) org9 o

(D) wamETe &

Who among the following Presidents held
the office for the shortest period ?

(A) N.Sanjiva Reddy

(B) V.V. Giri -

(C) Dr. Zakir Hussain

(D) Dr. Shankar Dayal Sharma

= & & B8 Teuly w98 w9 g &
fd wwww ?

(A) T g9 @&

(B) dvdr fifr

(C) =i, T gam

(D) =. 9T =g ymi

Ambedkar Jayanti is celebrated on -
(A) 11t July (B) 12 June
(C) 14N April (D) 14t May

TASHT TN FAE A F -
(A) 11 Sarg (B) 12 s
(C) 14 ardw (D) 14 w2
Fill in the blank with the correct option.
They taught him to behave
properly.
(A) who (B) which
(C) whom (D) how
| P70
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18

19

20

21

el wEt W Wy wen b e ¥ 7
(A) S (B) wri+h
(C) &= (D) wig

A parallalogram with two adjacent sides
and diagonals are equal is -

(A) Square (B) Trapezium

(C) Kite (D) Dart

TH O G B @ g qemd ek
fomel aaT ¥, T ¥ -

(A) =i
(C) wam

(B) 9vdg
(D) =1

Choose the correct preposition to fill in
the blank :

all of us.

This rule is applicable
(A) to (B) for
(C) between (D) upon

"World Health Day' is celebrated on -
(A) 11th july  (B) 17t May
(C) 12! January (D) 7' April
Tava @ Rgg’ w9m@n 9w § -
(A) llgméa?t (B) 17 w5 @&
(C) 12 st &1 (D) 7 o &

Sound travel fastest in medium.
(A) solid (B) liquid

(C) gas (D) vacuum

WM EEE AW s ¥ gEid el
%

(A) 2™ (B) ==

(C) = (D) frafa

22

23

24

What is rain shadows 7

(A) An area having relatively little
precipitation due to the effect of a
topographic barrier.

(B) An area having relatively high
precipitation due to the effect of a
topographic barrier. | r,.‘

(C) An area having hlglbrpmfall

(D) None of these tfi

gtz wrar #=@m ¥ 7 £

(A) Ud TET & W AUATHT Y F HAAT
SRR R R

(B) 1w e &5 Wi aniegid B9 & e

m%mﬁmﬁ?wmhh ‘
(C) oiftrs aaf amem & | |
(D)sﬂﬁﬁaﬂéwa

)

R

Enforcement of Fundamental nghts
during emergency can bd‘saspendcd by :

(A) Parliament c-l;: J
(B) President t;ﬁ

(C) Supreme Court t;)

(D) Lok Sabha '

freifaa foram s m}: :‘W

(A) @8 am L"'

(B) Tt Z ‘n

(&) Hdied @ &I C‘O.

(D) wwawT &

TR o= w fag ¥ -

(A) d&d (B) @@l

(C) wrephs (D) wrEghi
PT.

Scanned with Camscanner



|

25 Choosc the correct passive voice of the
, tollowmg ,sentence
’ The poliééman catches thieves,
(A) Thieves were caught by the

polﬁ:%man

(B) Thieves will be caught by the
policeman.

(©) Th{gsies have been caught by the
pollEeman

(D) Thlg_les are caught by the policeman.

26 One Jo@ is equal to:

U% SO UET B §

(A) 1 Nm (B) 1 N/m

(C) 10 Nm (D) 1 Nm?

8

© by |

27 The nexttterm in the series is

wq@wﬁmﬁmwm 7

2, 5,/10,17: 26,37,
(A) 50 ° (B) 57
(C)62 4 (D) 72
Hs
28 v o Fawtds g b
(A) Hm (B) dwerar
(C) g (D) e

Acid rain is caused by the oxides of
(A) Carbon
(B) Nitrogen only

‘ (C) Sulphur only

30 What was the immediate cause of the

31

32

33

Second World War ?

(A) International economic crisis
(B) Rise of militarism in Japan
(C) Rise of Fascism and Nazism

(D) German invasion on Poland

fadia faerge & arepiies & #4141 7
(A) s=iE s §He

(B) 9™ § =@ & 999

(C) ®riarE ud ArsiaE &1 359

(D) dieve 9T ST HI TR

Scurvy disease is caused due to shortage
of vitamin -

ﬁwﬁ%ﬁmhaﬁﬁa‘ﬁwhﬁﬁiﬁﬁﬂ
IqT B E 7

(A) A
(©) €

(B) B
(D) D

What instrument did Galileo invent ?

(A) Telescope . (B) Compass

(C) Watch (D) Steam Engine
Afeeiar ¥ o @3 @ @ B ?

(A) eiremm (B) @=mg

(©) = (D) W13 @1 g

In Jharkhand 'Thumming Agriculture' is
known as -

(A) Pamlou (B) Dipa
(C) Kuruwa (D) Khil
AEE § W B @ wed ¥ -
(A) 9mg (B) v
(€) Fwar (D) @@

P70
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37

A Wt A o g gamar § & English #
translation & —

(A) My mother calls you today.

(B) My mother called you today.

(C) My mother has called you today.

(D) My mother was called you today.

‘o @ W B ward’ wfaa ¥ awwl @
ugEgdl fead @ M ¥ 7

(A) &1 @it 9o 9§

(B) orgedl &

(C) B ¥

(D) fartr &

After fertilization, the ovule develops a
tough coat and is gradually converted into

a

(A) Pulp (B) Seed

(C) Fruit (D) Membrane
friee & ueErE, dE @ T HAIT AT
fapfaa giar & duT JE G
ferepfira @rar & |

(A) 99 (B) @1

(C) (D) e

The total length of land boundary of India
1S =

(A) 6,100 km (B) 7.516 km

(C) 15,200 km (D) 21,200 km

g & W A H A TR € -

(A) 6,100 ft  (B) 7.516 fei

(C) 15200 Bt (D) 21.200 f@h

38

39

40

41

~ (C) Chennai

Who invaded Poland in World War II on
September 1, 1939 7

(A) Benito Mussolini

(B) Adolf Hitler

(C) Winston Churchill

(D) King Naruhito

ficha forwr g # 1 T 1939 @1 s
ur e e fear 7

In which city has Tesla registered
Indian subsidiary for electric vehicles

(As on January 2021)
(A) Mumbai (B) Hyderabad
(D) Bangaluru
Sem 3 PpE wex § gfes e @ B
e gETEd we oiga @ & 7 (9
2021 &% IHTER)
(A) =

(C) o=

(B) #eqE®
(D) Fege

The first European traders to come
Indo-China were -

(A) English (B) French
(C) Portuguese (D) Dutch
g4 wum i s 9 fEedq o
(A) st (B) il

(C) germeit (D) =4
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43

44

I'he part of Himalayas lying between
Indus and Satluj river is known as -

(A) Punjab Himalaya

(B) Kumaon Himalaya

(C) Nepal Himalaya

(D) Assam Himalaya

Y 71 Sagw 78 % "o fewwa @ w0
AR -

(A) doE fewreg

(B) 3w femmera

(C) wum e

(D) s fewmera

Which isotope is used in the nuclear
power plants to generate electricity ?

(A) Uranium 235

(B) lodine 131

(C) Cobalt 60

(D) Uranium 238

qTHI] Al @9s § f9gd 59 & & o
fore wwenfie & SuEnT e o & 7
(A) FXFm 235

(B) e 131

(C) ®ETwe 60

(D) Fvaw 238

One-third member of Rajya Sabha retire
after every :
(A) 2 years (B) 4 years
(D) 6 years

T q91 & U%-fres s sase T

(C) S years

W T UdS RECIC
(A) 2 99 (B) 4 94
(C) 5 a4 (D) 6 ad

45

46

47

48

Where the Prussian king William I was
proclaimed German Emperor ?

(A) Berlin (B) Prague

(C) Bonn (D) Versailles

wom % e fafeaw wum B FE AT B
gtz oifva fear w7

(A) afes (B) wr
(C) &M (D) ag@

In AABC and APQR, BC = PQ and
ZC = ZQ. The two triangles will be
congruent by SAS axiom if

AABC gt APQR ®, BC = PQ @1
ZC= £Q% |3 Bryw g1y, @af=
¥ maiTE w8 AR -

(A) AC =PR (B) AC = RQ

(C) AB=QR (D) AB = PR

Which of the following is not an unit of
energy ?

(A) kilowatt (B) .kilowatt hour

(C) joule (D) newton meter
1 ¥ | ®-a1 Sl & A Ae ¥ 7
(A) fwerare (B) ﬁiﬁh‘fzm
(€) W (D) =& Hrex

Right to property is a :
(A) Legal Right

(B) Fundamental Right
(C) Religious Right

(D) Social Right

TR &1 AfUdR J9 0S¢
(A) & St &

(B) wifers st &

(C) wftfs st %

(D) @mfire st &

P70
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50

51

According to the Census 2011, the state
!la\’ing the maximum population in India.
s RO

(A) West Bengal

(B) Bihar

(C) Kéfala

(D) U%ar Pradesh

2011 gﬁrﬁmﬁm, qq ¥ gdaiids
TAEET 91 o ®

(A) ThgH

(B) faEIx

©) ==

(D) Ug W

The Chardham highway project of 900
kms @ﬁemg constructed in -

(A) Utgir Pradesh

(B) Bikar

(C) }machal Pradesh

(D) Uttarakhand

900 T#¥p =1 aTTa™ 7159 W few e H
t?

(A) 98 W3sT

(B) fz &

(C) féaram wiar &

(D) ZaErE ¥

Connective tissue which connects muscles
to bone is - '

(A) Cartilage (B) Tendon

(C) Ligament (D) Areolar tissue
g7 HAS Had A ARgdl | HiEdisE el
wEar & -
(A) TuTfte

(C) =g

(B) @

52

53

54

55

-

I
What is meant by national incom
(A) Government income
(B) Family income 1
(C) Income of public undertakmg
(D) Income from means of productio
T AG T HAwd e 7 :
(A) |@rd g
(B) uifrarm® smd
(C) wrdeitis SUHH &l AF
(D) S@Es % quEl § #d

Choose the correct answer 1o the quesn '
from the given options:

What did Mr. Gessler die of ?
(A) Cancer .

(B) Slow starvation

(C) The smell of leather

(D) Madness

Mahesh put ¥ 12,000 at compound
interest. If amount becomes double in
5 years. then what amount will he get
after 20 years ?

s 4 T 12,000 whgfe =@ X @ |
% Tam S 3 geh i, 20 W &
aE 38 R @ fed ¢

(A). T 96,000 - (B) T 48.000
(C) T 120,000 (D) T 192,000
Rubber is the crop of :
(A) Equatorial area

(B) Polar area

(C) Sub-Polar area

(D) Desert area

@& HEA &
(A) =@g &3 @l

(B) udm & i

(C) S9-ygam &= &l

(D) wowra &3 &l

P
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57

58

w

The alimentary canal is basically a long
tube extending from to
(A) nasal cavities to anus

(B) nasal cavities to colon
(C) mouth to colon

(D) mouth to anus

BT AW g B9 " kil
a% fawfad T @@ TN § |

(A) =t JeT § T

(B) #faat a1 & HieH

(C) ¥z & B

(D) & § @

The winter rainfall in North-West India
is the result of cyclones, which originates
from-

(A) Red Sea

(B) Black Sea

(C) Baltic Sea

(D) Mediterranean Sea

ey T # ST at gkl
% ufomTEEd g 8, | 3a THE -
(A) =@ @ |

(B) wrer |t |

(C) affez® | |

(D) F= G o

A always have a virtual,
erect and diminished image.

(A) concave mirror

(B) convex mirror

(C) concave lens
(D) convex lens ;

% ET0 & wiatara #Hem
arardy, e vd st e g # |

(A) @aa@ Zqm

(B) waa z4w

(C) waaw w4

(D) v e

NI
52
@
w

fesd

ATl 7
SOy V(¢
: - 4 s

-

C1669792

-

Foreign investment is:
(A) Investment made by the World Bank.

(B) Investment made by International
Monetary Fund.

(C) Investment made by Foreign country.

(D) Investment made by Multinational
Corporations.

Rrxofy Praer dedra ©

(A) ﬁsa%mﬁh‘mwﬁ%ﬂ

(B) mﬁéfﬂgﬁﬁammwﬁéw
(C) fareh 2er @ fepan T REE

(D) Wﬁﬁmmwﬁaﬂ

The first vaccine was developed by -
(A) Louis Pasteur

(B) Edward Jenner

(C) Karl Landsteiner

(D) Joseph Mister

o S faefaa fRan T -

(A) Te8 WeET ET

(B) Tsas FC B

(C) e AUERHT B

(D) s e &

Lok Sabha Speaker submits his -
resignation to -

(A) President

(B) "Deputy Speaker of Lok Sabha

(C) Chief Justice of India

(D) Ps’ime Minister

AFEHT FeE A AT R T B
%7 , |

(A) Tzafd

(B) draww SueAs

(C) WrE &1 eI AT

D) v

S
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62 26'™ November is also known as :
(A) National Law Day
(B) Human Rights Day
(C) Literacy Day
(D) Environment Day
26 TEET WA AT &
(A) g fafy fRae & w9 o
(B) gHaifysr fRag & wv ¥
(C) wreytar fegg & =9 ¥
(D) ggtawr fraw & &9 ¥

63 A coin is tossed 40 times with following

outcomes:
Head 17 times and tail 23 times.

In a single throw of a coin, what is the
* probability of getting a head ?

& foad @1 40 I IWEN W@ ¥ oaw
Preaferfa oo o & ¢

E 17aw aur @2 23 91 |

R %1 T 3BT R, foer o @ e
T E 7 ETORRNY,
— Ly
(A) 23 (B) RO
b LRI
23 ok
€. .. Ty

64 Sundarban National Park s located in
- which state of India? "~ T
(A) Bihar tsp aF
(B) Jharkhand - Ny
(C) West Bengal 4
(D) Odisha
ﬁ“mm.‘“ﬁiﬁﬁmﬁﬂw
@A) e R
(B) srws
(C) wfimw e
(D) aifesm

LY
I ¥

65

66 Ozone present in atmosphere s

67 How many days work IS provic

: g
68 Choose the correct option:

6 R v ¥ wrw & e £

rhe term of the office of th

President 1S :

(A) Eight years (B) Six y -
(C) Four years (D) Five ye
¢ gty @ S g ¥
(A) ¥ =¥ (B) = -
(€) =¥ (D) ufa =%

surface of Earth from —————

from the Sun. ]
(A) Infra-red (B) Ultra-vig

(C) Far Red (D) Visible 7
Tgsw 4 Rua o= ¥
fafeol | g B g
(A) =1 T T

(C) =R T

areas of country under MGNRI
T & Sf 291 ¥ Tre ast &
T RO T € 2

(A) 300

(C) 100

Who was blind in the s
are not Here™ ?
(A) the narrator
(B) the girl

(C) Both of them
(D) None of them

(A) =itfy, s, w3
(B) =z, ¥z, v
(©) w, dr, W
(D) v, iy, w9
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73

n which country was the first written
constitution implemented in the world?

(A) India (B) Britain

(C) America (D) France

frea ¥ foe 291 A wwem fiftea wfrem @
gomm o ? |

(A) 9@ (B) faes

(C) et (D) i

Compressed Natural Gas (CNG) is which
gas ?

(A) Propane

(B) Methane
(C) Ethane (D) Butane |
iifed wrptes fra @ g Ed 7
(A) wIaT (B) #e
(C) #8 (D) ==

In Arunachal Pradesh Brahmputra is
called as - :

(A) Dihang (B) Jamuna
(C) Tsang po (D) Lohit
ST TRT H SRR S el & -
(A) feeim (B) wgT

(C) @ o (D) wfed

As per Census 2011, the second most

populous city of India is :
(A) Banglore (B) Mumbai
(C) Delhi (D) Kolkata

2011wm%sm'u1mamaa‘r&ﬁ ‘

@ aren fEda 9T ¥
(A) T (B) g3
(C) famet (D) wrerebral

75

76

77

11

74 Who is known as ‘India's Water Man’ ?

(A) Bhagat Singh

(B) Raj Singh

(C) Bhan Singh

(D) Rajendra Singh

‘W &1 ared 7 ¥ ™ § B A AR
5 7

(A) wra T

(B) T

(C) v f&®

(D) o= e

For which product Hallmark is used ?
(A) Agricultural products

(B) Jewellery
(C) Electrical goods

(D) Electronic goods
fopg waTE % f BT B QAT B §

(A) i IR

(B) w@dl

(C) faea =&l
(D) SR IS

A non-metal which exists as a liquid at
room temperature is -

% g, I FA F AR A B TH
foerdhl &, a8 ¥ -

(A) Hg (B) Cl

(C) Na (D) Br

Choose he correct answer to the given
question from the options that follow:
What does “Crescent” refer to in the poem
“Thinner Than a Crescent” ?

(A) the sun (B) the moon

(C) the star (D) the sky

P10,

) | S
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78 Leaves of ___......._..‘rl}lum is used to | 81 Spinal cord '; ':':‘::;;““
make 'bidis', A (A) Vertebral ©
Al (B) \mmum (?: :{‘:‘::\ium :
(C) Nicotiana (D) Aendu tm Sternum 3
S— SR mﬂwmﬁm‘htf
waai ol & | (A) waEH TS T
(A) umy (B) v (B) wafral w1
(C) g (D) :ﬁg (C) wure &I 3
(D) & T :
79  Which one of the lollmmnb places has X
recorded maximum rainfill in India ? 82 ‘s e sy & TEIEN § -
(A) Mawsynram ‘ (A) TS WE
(B) Gangtok i S (B) ghvres
(C) Mahabaleshwar (€) ydwia Aurd) |’ltl5ll
(D) Pasighat m i (D) werdy =t 7 ,
w' ¥ 1”““'“";}‘;}?'*: me } wwife 83 The marked price of an article is
b ”’ ‘ I it is sold at T 72, what is the dis
(A) "ty ~ percentage ?
(B) i N“‘- mwmmgmtsotmﬁ
(C) e s 1 g A o e whem wr k7
(D) urdhare g WY (A) 7.2% (B) 8%
‘ :ﬁf g 1) (C) 10% (D) 12%
s ]
80 Name of agency through which 84 N N wd \ :
| q@ @ e’ wir @
government procures loodngdor bufler
stoek s onifd pgee ’M Y ?:S W‘““““ W gwfera ¥ ?
(A) Food Corporation of" | Py (g) W
(B) Food Supply (orporatlon { India ' R— .
(C) State Trading Corporation 85  Amount of 4,000 is given on inte
(D) Export-Import Corpomt}dn 5% p.a. for 2 years. What w
I oo w o fral whd SR Twt difference between compound inter .
wih % fro e wleh b aw ko simple interest ? |
(A) wredha wra Frmg | ‘4000“?'“&!"“%1@:5%*
(B)mew’q mﬁ“%ﬁmhm :
(©) ww w fr mm*ﬁvmmm?
(D) M-WH form ( (C) T30 (D) T 40

: !
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(A) Sugm w to .
B) 7% (A) Akola (B) Fie
(C) Jowar and Bajra Nagpar (D) Thane
(D) WA . f)zaﬂmvwﬂﬁ*iﬁ e
:T"n:v e ot ® B
| | 7o
(B) @ (C) qwgi’é (D)
(C) 7T 4 SN0 — gz =
(D) % - 91 Padmas:wc Ramchandra Manjhi is
e A e - (A) Literature () Spors
' - S (C) Smgmg (D) Folk Dance
- =g veesaE F T EE= 3
(A) aaaf‘g ® &
48 oot 2 (C) w1 — (D) &% 59
» r co - ™~
(A) osynihesis 92 Jalalgarh Fort is located in which district
(B) Polymerisation A / of Bihar ? e -
e v - (A) Bhagalpur  (B) Kishanganj
(C) Pum (D) Araria

mhm%ﬁuﬁiﬂﬁt"
(A)'I%\ (B) s v=

(C) g (D) s

behalf of Government of India ?
(A)m P 4 9
(B) Reserff® Bank of India
© -of India

(D) World Bank
mm&m%ﬁﬁﬂzm
vEH T A E 7

(A) &8

(B) sitdémm =3 3=

(©) %= 7= z== _— T
@t o el T

Y 8
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94 What does Social Justice denotes ?

(A) Equal employment opportunities
between men and women.
Equal distribution of wealth.

(B)
Equal participation of women in

(©)
politics.
Equal treatment to all citizens

without any social distinction.

qraifee =g a9 e & 7

(A) g&9 s wfeems #g ToMX & FAH
AT

(B) g7 @1 g9 faacor

(C) Troriifa & wfeensi # §9F wEiETd

(D) fa fepedt amefores SewTa 3 @Y AT I
F [1g g9 ATET

(D)

The pair of states, having Thorn Forests
and Scrubs, is - :

(A) Rajasthan - Bihar

(B) Gujarat - Rajasthan

(C) Bihar - Jharkhand

(D) Odisha - West Bengal

T T g wEl w2 a9 qd1 wsal s

'S ¥, qE ¥ - '
(A) T — faer
(B) TErad — T
(C) faet — s@s
(D) enfsem — uf¥es Fwme

95

Who composed the famous song ‘Sare
Jahan Se Achchha' ?

(A) Rabindranath Tagore

(B) Jai Dev

(C) Bankim Chandra Chattopadhyay
(D) Mohammed Igbal

yftra Ma | el @ s W o e
# 4 7

(A) Ta=ma &t

(B) 719 39

(C) dfepwen azmmea™

(D) wEwE 3Ham

96

97

98

99

14

100 Fill in the correct form of verb.

In which sector workers get security of

employment ”

(A) Organised sector
(B) Unorganised sector
(C) Foreign sector

(D) Informal sector
Ppg @ & AT B AT %1 g
e

(A) wfea &

(B) eremfea &=

(C) fedsht &

(D) s &

Plaster of Paris is made from -
(B) gypsum
(D) bauxite

(A) limestone
(C) marble
T S UG @ S -
(A) T % T & (B) Praw &
(C) ¥ & (D) arEmEe |

Tl Fiz wewr b B F -
(A) 93 Fmam (B) sfTihE
(C) ez | (D) T =it ¥

Water at 100 degrees celsius.

(A) boil
(B) boils

(C) boiling

(D) will have been boiling

Scanned with CamScanner



